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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1)

2)

3)

4)

5)

giiereff FEUYH AU T U W ATHTR fHarEd: forg |

Candidate must write first his / her Roll No. on the question paper
compulsory.

vt e sAfam |

All the questions are compulsory.

ek U9 T 3T & T8 ST-Yitaent # # ford |

Write the answer to each question in the given answer-book only.

™ Tot # Sraiies @oe E, 3T @ & IR Tk a1y @ )

For questions having more than one part, the answers to those parts are to
be written together in continuity.

9 U o @t 9 oRistt TuTar | foRet wehr Y e / orvar / ferrens e g W =t
HTST & 9 i g Tt A |

If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) i) g UYA U aF WUSI | faweh T - 31 IR =)

i) wus ‘e’ |yt BE & fom erfAem R

iii) @Ug ‘@ & q¥ WA §, Tk HRT | T W97 ¢ | udremeli ol TRl Teh Wit o |l |
9T T g HEAT B

1)  This question paper contains two Sections - A and B.

11)  Section 'A' 1s compulsory for all candidates.

1i1) Section 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only a set of seven questions of any one portion.

7) w@us Iy w@E&AT 37k Tk T
H 1-8 1
9-14 2
15-21 4
22-23 6
El 24-25 1
26-27 2
28-29 4
30 6
FYat

24-25 1
26-27 2
28-29 4
30 6

Section Q. Nos. Marks per question
A 1-8 1
0-14 2
15-21 4
22-23 6
B 24-25 1
26-27 2
28-29 4
30 6

OR

24-25 1
26-27 2
28-29 4
30 6

8) uea wEAT 22 (Wug-3r) aur 30 (Wus-d) U AT faehed E)
There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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2)

3)

4)

S)

6)

3
s - A
SECTION - A
T WISIER WH i TETfa Y AiT T AT =l har g o

Why does pay a new partner, the amount of goodwill to the firm? [1]

Torelt |TSIER & wH | TRty WEUT A TR TN UTTH STUTA <Y TTUHT St <ht SATet 8 2

Why does gaining ratio calculate at retirement of any partner from the firm? [1]

‘araw greAT wt feufa fereror # @ fewman smar 22

How does calls in arrear show in the Balance-Sheet? [1]

VYT TS /T U AR § HE Uk =R forat|

Write any one difference between share holder and debenture holder. [1]

TfawT va |fedr U W § 9IEieR 81 SR it sl Y4 9wt & foru W= arger s
gfas ua wfean & @R &1 U JTa |

Pratibha and Savita are partners in a firm. They admitted Kavita as a new partner
for Y4™ share. Find out the sacrificing ratio of Pratibha and Savita. [1]

A, A AT ATH G T 2: 3 : 4 & FJUT | died U Uk EH H ATSGR § | H i FEaeh!
% 36,000 ®. ¥ TaTd @it fTEmE 81 @ BH @ TRl UgUT HdT gl AT T 6l
ruferiga = 6h ufafe =0

A, B and C are partners in a firm sharing profit & loss in 2 : 3 : 4 ratio. Goodwill
account is appearing at a value of ¥36,000 in the books of firm. C takes retirement
from the firm. Pass entry to write off the goodwill account. [1]
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7)

8)

9)

10)

4
TH ok THTUE W Teh Tferrad arated 2,000 ®. <t off, ™8 v agier 4 2,500 ®. 6§ &
foram| s« ufafe =)

On dissolution of a firm there was an unrecorded asset of 32,000 which was
taken over by a partner at 32,500. Pass Journal entry. [1]

wifga ¥ 1,000 Fwat 39T WX e Uit 3 &. Ufd 3191 1 YA oW 9 Afaw aRT o |l
4 wrg =g feRa| wrot Y gEaent ® s ft wfafy Aol of & R W

Mohit paid allotment money @33 per share on 1,000 equity shares with first
and final call after 4 months. Record entry of interest in the books of company
according to table 'A". [1]

T i AT U i § WrEER §1 St T guft e 2,00,000 ®. wE 3,00,000 .
2l O o & 3a H F 10% <kt arfies g | Ysit W ST T e T | SUeh o forg
A a9 o o o v Ui ufafe =)

x and y are partners in a firm. Their fixed capital are ¥2,00,000 and ¥3,00,000
respectively. They forgot to charge interest on capital @10% p.a. at the end of
the current year. Pass one adjustment entry on first day of the next year. [2]

Gt 3R o SRR ¥ W oW g1 2 ;1 % a1guTa § died ¥ IE AR oY %H ¥ ETeen
FATAT| 7T STATA SR gAML 3R gt o 20,000 €. ua @&t @ 10,000 &. The o= ?
TH ki GEAehl W ATAYESh THA TSt shiterd |

p and q are partners sharing profits and losses in the ratio of 2 : 1. They admitted
'R' as a partner in the firm. New ratio will be equal. R brings in cash 320,000, as
capital and 310,000 as goodwill. Pass necessary journal entries in the books of
the firm. [2]
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11)

12)

13)

14)

15)

5
A, 9 3R | Tk ®H W E@EER 9| tfeaw @ gfderd 31 fewray @t o=@ 9 g we] a6
T 3093 T | k1 g g T | ek WISIER Rl e H et Ta ¥ & eem W e A
217 ad ® wH @ @ 36,000 F. om) geg <61 fafer ae |’ % o & fEmm i o w5
AAT THhH! T | ATT9Teh (Y w|

A B and C were partners in a firm. Final Accounts are prepared on 31% December
every year. C died on 30" June in the current year. Deceased partner's share of
profit is calculated on the basis of last year's profit. Last year's profit of firm was
%36,000. Calculate C's share of profit till date of death and record necessary
Journal entry for this. [2]

wH &% FEOE W eHeR 50,000 €. gEit 1,50,000 ® wa Tehe wivr 10,000 . oft| fafay
gt & 1,30,000 €. o9 301 S9!t 6t g1 va fafay avufwt & gea i Tomn &)
On dissolution of a firm creditors were 350,000 capital was 31,50,000 and cash
balance was 310,000. 21,30,000 realised from sundry assets.

Calculate the amount of sundry assets and loss on realisation. [2]
39T o STTUTTereh e wht o7 foran|
Write the meaning of 'Pro-rata' allotment. [2]

Teh hEIHT o HIgT | Teh WA WGt | SFat 5 Wigd st A= ® 1,000 w. e 100- 8%
Hmurad 10% wieiem @) 9 foRd | sravaes s e afateat fifs)

A company purchased one machine from Mohan. The company issued 100-8%
Debentures of 31,000 each @ 10% premium to Mohan.

Pass necessary journal entries. [2]

et w1 a1d forRad ue gaeht fonedt 2 farstwanett st oot =)

Write the meaning of partnership and describe any two characteristics of its. [4]
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16) <Rt | WS AW UTH AT H i3 IR AR @t ?

Write any four distinction between calls in arrear and calls in Advance. (4]

17) uad 913 3R 9 Uk wH U Treier 81 1 31fe 2015 st 37kt ISfl Wi o 99 shuel:
50,000 ®., 40,000 ®., wa 10,000 €. & AEEH @ W qg STGEAT -

1)
2)
3)
4)

A &1 5,000 F. a9 & wize Frar s
¥t ATSER W gSt W A= 10% e faerm)
WY T AT FTSERl § /e’ S1eT A

SUh FHTENET o qd wH ot o 31 " 2016 @ 45,000 |, o @ g
e @ A S=Te

X, y and z are partners in a firm. On 1* April 2015 theirs capital balances were
% 50,000, 40,000 and 10,000 respectively. The partnership agreement

provides

1) =z shall be credited with a salary of ¥5,000.

2) 10% per annum interest on capital is given to all partners.

3) The balance of profit would be divided equally in all partners.

4)  The profits for the year to 31 March 2016 (before making any provisions for

the above) were I45,000. Prepare profit & loss appropriation Account. [4]

18) T gorT & STUR W ®H o THIUA o THA WISER 1 YSit @rar S e |

it @ 1 A 9w 20,000 €. TEEAT @Td 6 T W 3TehT 9T 45,000 ., 36 wH A
s @ty 18,000 ®. § @i

On the basis of following data prepare capital Account of a partner on dissolution
of the firm:- Debit Balance of capital Account 320,000, share of his profit on
realisation ¥45,000. He purchased one asset of firm for ¥18,000. (4]

SS-30—-Accountancy
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19) sifirgm ot Gsht TH Forifirm ol dsft @t wwETaR|
Clarify the Authorised capital and Issued capital. [4]

20) et st # wmoeEn & w6 sda afafsar @)

i)

ii)

2,000-10% wura=t <1 St ok e 100 ®. @t @ Ftaa 5% sidem w foran
Rrewt vem wuges w grm|

5,000-12% wura=nt aht =it Tk wedes 100 ®. &1 @ frtas 5% tiem W feman T
raem snem 10% sHEm o) g

Give Journal entries for the issue of Debentures in the following conditions:

i)

ii)

Issued 2,000 - 10% debentures of X100 each at a premium 5% redeemable
at par.

Issued 5,000-12% debentures of I100 each at a premium 5%, redeemable
at a premium 10%. (4]

21) T gaamen & | hi 9o W WH ki YEaehl W STTEYES WA ArAreEl g |

1)
2)
3)
4)
5)

A, o R | 3:2:1 % U § oH A Sred g WEER B
YA @Td @1 AW 99 15,000 €. Tehe gaAT|
gEaen! ¥ Tt @mar 12,000 ®. W faewe el
AT "9 & 9ol 24,000 ®. |

Ta a9 o Fag § ey g wmar st ger @ 6,000 w. e

Give necessary journal entries in the books of firm on death of 'C' from the
following informations:

1)
2)
3)
4)
5)

A, B and C are partners sharing profits & losses in the ratioof 3 : 2 : 1.
Revaluation Account disclosed 315,000 (Debit).

Goodwill Account 312,000 was shown in the books.

The value of General Reserve was 324,000.

36,000 of profit & loss account was in Assets side of last year Balance
sheet. [4]
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22) 31 3R T 3:2 % U H TN g died g WIEER ¢

1 318 2016 st ekt Terget e W §:

3 3

TR 30,000 | e 2,000
ISt @ FER 25,000

A 50,000 | —emEem 3,000 22,000

T 40,000 | ww" 28,000

L i 18,000

o 50,000

1,20,000 1,20,000

1 3t%ret 2016 1 Ig | k! =1 9@t W) "TEER a9t

1)
2)
3)
4)

5)

| STuHt Yot ud Tt & wavt: 50,000 €. wd 10,000 ¥, Aehg wRAT|

T Y g eruTa 2:2:1 grm|

wfeer w/ur ermaH & 1,000 ®. q g WH

T o1 gageareRd 25,000 . qem Waq w1 gaHedred 60,000 w. feran s

T WIEER HI G F YR W EH h Gt HT TErET O WEER gR ThE §
feram W

YA R @At USit T a9 T2t wH wt fergt aarsa)

YT
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T AT iR T ATierl § 19 /3A 5:3:2 oura | died g1 S Agienl wH &
ferares =t fgem foran ? farges &t fafer o eer 26,200 ®. @ @R e & =
2,500 &. 6t T TETad et @ S YEaen! ¥ T8 femmt w8 uftuea g et ik
SHRT WW@WI 3Rt guit semer: 18,000 ®. 10,000 . wa 12,000 . 2
arg J gt & srfafes wH ot 13,800 €. 38R § W@ F| "t & 86,000 ® W gU)
THEN WTAT TS 973 1 K0T WTAT d9R |

A and B are partners sharing profits & losses in the ratio of 3:2. On 1* April
2016 their Balance Sheet is as follows:

] ]

Creditors 30,000 Cash 2,000
Capital A/c Debtors 25,000

A 50,000 — Provision 3,000 22,000

B 40,000 Stock 28,000

Furniture 18,000

Building 50,000

1,20,000 1,20,000

On 1* April 2016 they admitted C on following terms.

1)
2)
3)
4)
5)

C will bring cash for capital and Goodwill 50,000 and 10,000 respectively.
New profit & loss ratio will be 2 : 2 : 1.

Provision for Doubtful debts be reduced upto 1,000.

The stock be revalued at 325,000 and Building be revalued at 360,000.

On the basis of New partner's capital, the firm capital to be adjusted in cash
by old partners. Prepare revaluation account, Capitals Account and Balance
Sheet of New firm. [6]

OR
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23)

10
X, y and z are in partnership sharing profit & loss in 5 : 3 : 2. They decided to
dissolve the partnership firm at the date of dissolution their creditors amounted
to 26,200 and in the course of dissolution a contingent liability of 32,500 not
brought into the accounts matured and had to be met. Their capitals stood at
318,000, %10,000 and X12,000respectively. y had lent to the firm in addition
to capital 313,800 the assets realised I86,000.

Prepare the realisation Account and y's loan Account. [6]

At fafiee & 100 ®. arer 20,000 ®HaT 2191 5% Wem ) S ford it 38 IR 3
& e W 40 ®. ufa 19t didtaw afeq, sreea w 30 ®. ufa 3191, 9w afdt vom ue
arfeaw #ET WX 45,000 791 % foru e 3| 5,000 39T 6 STageRt st we T fRan
TAT| W AR hi AYTIATA e ThaAT| TAGT U=t o |1 UTH SAfafees Tt w1 efraed
T I ¥ T R e wedt v aun wwe g i ueeg @ e 400 siei
& fou emaen fRam om 3 smaEw & sifafies fopelt off wifwr &1 wmam =& femam)
ATATIH T UtafPai Hife|

Arti Limited issued 20,000 Equity shares of 100 each at a premium of 5%,
payable as 340 per share on application, including premium, I30, on allotment
and Balance on first and final call. Application were received for 45,000 shares.
5,000 shares were not alloted to the applicants and pro-rata allotment was made
to the remaining applicants. Extra amount received on application were adjusted
in allotment and First & Final call respectively. All amount were received in due
time except Rama who applied for 400 shares not paid any amount except
application. Pass necessary journal entries. [6]

SS-30—-Accountancy
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Qg - o
SECTION - B

@UE T & 31 W ¢, Tedeh 0T & 7 wea § ufenfofat @t forelt uwes wmor & |1a wuat &l g
HET B

Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

24) wurea feranett qen faw frament o ue s T |

Write one difference between an operating activity and an investing activity.[1]

25) drehe TATE FaeRuT dAR WA W FE Uk 329 ke

Write any one objective of cash flow statement. [1]

26) faia foawon o faveiwur s g1 @ Farsd|

List any two advantages of analysing the financial statements. [2]

27) % & TR GEGR ¥ AW TR AR 7@ @
1) == @ fou smaA uRfers 3w 20,000 &.
2) W% o e eifem o 15,000 w.
3) @ % gRE W o foTu s s 25,000 w.
Find out the amount of Tax paid from the following given informations:
1) Opening Balance of provision for tax 320,000.
2) Closing balance of provision for tax 315,000.

3) Provision for tax create during the year 325,000. [2]

SS—-30—Accountancy [Turn Over
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28) o €t TS ATl W H/OT WHAT JUTA, HUT HeA T AT, TAMHCT FTUTA AT AT
U [T HIf |

3
THAT 39 A, 5,00,000
gatfrer et gsht 2,00,000
AT E_ 1,00,000
TR g @ () 1,20,000
0T U 3,00,000
fafrea dreEr 1,80,000
3 =9 60,000
IRfvi = 20,000
<ITe] Tt 4,00,000

Calculate Debt Equity Ratio, Debt to total Assets Ratio, Proprietory Ratio and

Current Ratio from the following details. (4]
]
Equity share capital 5,00,000
Preference share capital 2,00,000
General Reserve 1,00,000
Profit & Loss Account (Credit) 1,20,000
Debentures 3,00,000
Sundry Creditors 1,80,000
Outstanding Expenses 60,000
Preliminary Expenses 20,000
Current Assets 4.00,000

SS—30-Accountancy
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29) frfaRaa guaten & sar W foxim franett @ g yarg it o i)

2015
3
T 39 Ut 12,00,000
10% watferenm arot gsht 4,00,000
8% T 2,00,000
& & s 5,00,000

2016
T

15,00,000
4,00,000
1,00,000

3,00,000

Td o SR THAT HAY YWt ok TRIEHH AW W 20% ATHII GATTHRR A9 gt W 10%
ATHTIT, SKUT U= W 8% ST URTTTeR W TR A feharm =] S & /0T R 54,000 &.
T S YA femam T

Calculate cash flow from financing activities on the basis of following details.[4]

2015 2016

T 4
Equity share capital 12,00,000 15,00,000
10% preference share capital 4,00,000 4,00,000
8% Debenture 2,00,000 1,00,000
Loan from Bank 5,00,000 3,00,000

During the year 20% Dividend was paid on Opening Balance of Equity share,
10% Dividend was paid on preference share, 8% interest was paid on opening

balance of debenture. ¥54,000 interest was paid on loan from bank.

30) = geEmTel | gerTeRe o forarut aatea

Hehel oIH
T T

AT Y

SS—30-Accountancy

31-3-2015
3
3,00,000
1,50,000
forsma =1 40%
Hhe! W T 5%
R H gF g oH & 40%
arorat

31-3-2016
3
5,00,000
3,00,000
fesra =1 30%
Hehed o9 Rt 4%
W Ud g & w1 40%
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= gemen | gameR fagr dEaw fikm)

31-3-2015 31-3-2016
4 4
Tt wraf 5,00,000 7,00,000
ferfe=m 2,00,000 1,00,000
=Te] wrat 3,00,000 5,00,000
|HAT A9 Yt 6,00,000 7,00,000
T TS AT 2,00,000 3,00,000
SIS RHIRIC) 2,00,000 3,00,000
Prepare comparative income statement from the following informations:
31-3-2015 31-3-2016
54 54
Sales 3,00,000 5,00,000
Purchases 1,50,000 3,00,000
Gross profit 40% of sales 30% of sales
Administrative expenses 5% of Gross Profit 4% of Gross Profit
Income Tax 40% of Net Profit 40% of Net Profit
before Tax before Tax
OR
Prepare common size Balance Sheet from the following informations: [6]
31-3-2015 31-3-2016
3 3
Fixed Assets 5,00,000 7,00,000
Investment 2,00,000 1,00,000
Current Assets 3,00,000 5,00,000
Equity share capital 6,00,000 7,00,000
Reserve and surplus 2,00,000 3,00,000
Current liabilities 2,00,000 3,00,000
AT
OR
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Qg - o
SECTION - B

24) HECHTESS TehTS;1¢T AT fohll ohgd 2?2

What is customized software? [1]

25) wievite fore e 27
What is spread sheet? [1]

26) DBMS ¥ zfdt forlr wvga 27
What is Entity in DBMS? [2]

27) Tyt Y g I YHATY Fa1su|

Give any two capabilities of spreadsheets. [2]

28) @i ® gie M <ht /=T Ufshat gl

What is the process of creating report in Accounting? [4]

29) HIIETETE HRTHST Ta WIS TR (7 YUt | T’ Tuee ferfsre ?

Distinguish between Computerized Accounting and Manual Accounting System.[4]

30) ©EiehA % @Y | IeT THTET @15eha ol Jui R

Explain data processing cycle with reference to Accounting. [6]

+ + +
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